

Schwarz 3. (a)

$x_\mu \rightarrow \Lambda_{\mu\nu} x_\nu$, let $\Lambda_{\mu\nu} = 1 + \epsilon_{\mu\nu}$, then

$$x_\mu \rightarrow x_\mu + \epsilon_{\mu\nu} x_\nu$$

$$\mathcal{L}(x_\mu + \epsilon_{\mu\nu} x_\nu) \approx \mathcal{L}(x_\mu) + \epsilon_{\mu\nu} x_\nu \left(\frac{\partial \mathcal{L}}{\partial x_\mu} \right) \Big|_{x_\mu} + \dots$$

$$\delta \mathcal{L} = \mathcal{L}(x_\mu + \epsilon_{\mu\nu} x_\nu) - \mathcal{L}(x_\mu) \approx \epsilon_{\mu\nu} x_\nu \frac{\partial \mathcal{L}}{\partial x_\mu}$$

$$\Rightarrow \frac{\delta \mathcal{L}}{\delta \epsilon_{\mu\nu}} = x_\nu \frac{\partial \mathcal{L}}{\partial x_\mu}$$

$$\frac{\delta \mathcal{L}}{\delta \epsilon_{\mu\nu}} = \sum_n \frac{\delta \mathcal{L}}{\delta \phi_n} \frac{\partial \phi_n}{\partial \epsilon_{\mu\nu}} + \frac{\delta \mathcal{L}}{\delta (\partial_\alpha \phi_n)} \frac{\partial (\partial_\alpha \phi_n)}{\partial \epsilon_{\mu\nu}}$$

$$= \sum_n \frac{\delta \mathcal{L}}{\delta \phi_n} \frac{\partial \phi_n}{\partial \epsilon_{\mu\nu}} + \partial_\alpha \left[\frac{\delta \mathcal{L}}{\delta (\partial_\alpha \phi_n)} \frac{\partial \phi_n}{\partial \epsilon_{\mu\nu}} \right] - \left[\partial_\alpha \frac{\delta \mathcal{L}}{\delta (\partial_\alpha \phi_n)} \right] \frac{\partial \phi_n}{\partial \epsilon_{\mu\nu}}$$

$$= \sum_n \left[\frac{\delta \mathcal{L}}{\delta \phi_n} - \partial_\alpha \frac{\delta \mathcal{L}}{\delta (\partial_\alpha \phi_n)} \right] \frac{\partial \phi_n}{\partial \epsilon_{\mu\nu}} + \partial_\alpha \left[\frac{\delta \mathcal{L}}{\delta (\partial_\alpha \phi_n)} \frac{\partial \phi_n}{\partial \epsilon_{\mu\nu}} \right]$$



vanish on eqm.

$$= \sum_n \partial_\alpha \left[\frac{\delta \mathcal{L}}{\delta (\partial_\alpha \phi_n)} \frac{\partial \phi_n}{\partial \epsilon_{\mu\nu}} \right]$$

$$\Rightarrow \partial_\alpha \left\{ \sum_n \frac{\partial \mathcal{L}}{\partial (\partial_\alpha \phi_n)} \partial \phi_n \right\} = \frac{\partial \mathcal{L}}{\partial \xi_{\mu\nu}} = x_\nu \partial_\mu \mathcal{L},$$

Let the summation on ϕ_n be implicit,

$$\partial_\alpha \left[\frac{\partial \mathcal{L}}{\partial (\partial_\alpha \phi_n)} \partial \phi_n \right] - x_\nu \partial_\mu \mathcal{L} = 0$$

$$\partial_\alpha \left[\frac{\partial \mathcal{L}}{\partial (\partial_\alpha \phi_n)} \partial \phi_n - g_{\mu\alpha} x_\nu \mathcal{L} \right] = 0.$$

$$\Rightarrow \partial_\alpha K_{\mu\alpha} = 0, \quad K_{\mu\alpha} = \text{above}.$$

Compute $\frac{\partial \phi_n}{\partial \xi_{\mu\nu}}$, $\phi_n(x_\mu + \xi_{\mu\nu} x_\nu) = \phi_n|_{x_\mu} + \xi_{\mu\nu} x_\nu \partial_\mu \phi_n|_{x_\mu} + \dots$

$$\Rightarrow \frac{\partial \phi_n}{\partial \xi_{\mu\nu}} = x_\nu \partial_\mu \phi_n.$$

$$\Rightarrow K_{\mu\alpha} = \frac{\partial \mathcal{L}}{\partial (\partial_\alpha \phi_n)} x_\nu \partial_\mu \phi_n - g_{\mu\alpha} x_\nu \mathcal{L}$$

$$= x_\nu \left[\frac{\partial \mathcal{L}}{\partial (\partial_\alpha \phi_n)} \partial_\mu \phi_n - g_{\mu\alpha} \mathcal{L} \right]$$

It satisfies $\partial_\alpha K_{\mu\alpha} = 0$.

To get this in the form of $d_{\mu} k_{\nu\alpha} = 0$, we switch some indices:

$$k_{\nu\alpha} = x_{\alpha} \left[\frac{\downarrow \uparrow}{\downarrow (d_{\nu} d_{\mu})} d_{\mu} d_{\nu} - g_{\mu\nu} \mathcal{L} \right]$$

$$= \boxed{x_{\alpha} T_{\mu\nu}} \quad \text{with some relabeling on indices.}$$

Davidson Chen
3.12.2024.